1. ¥H4

e 2 A S ARV | eIl S et St 5

JEATY5 Ve | B B

2. FHNAE

1) FEEFENA B 512 7) BT R

2) FHHA Hi e HIERE AT o)) 1A R 8) M X £ LIRS

3) HHE 23876052020014 9) Il - B

4) Ty AR (ML 2at) ONER 10) EHEA B 64 31

5) ZKHEEEKL 11) Bk 0%

6) JEATHIMN 340 A A 64 3726H 1.2) HiffiE 4 A R 64 31
(547 A TH 228K 1.3) i A R 64 31
G mEE) = £ A H 14) AlFEAERR

15) Rk

RETIR HHNRE

3. THAHE

1) THAA 2) H 3) By 4) FXA4

N

[ 2w

o [ ()R



FIX n+m

AR

ERA | BTN 5 R A, S R E RS E BGE =
H H FFEAS - B
TEHH - TR - F50 - A Bk L==7va g HAA B BRI, SRR e
A FRA « G
= 1 7, 744, 800
V5 SR SRR
= 1 7,744, 800
B 566t SRV B3 2 Uk AR

= 1 7,151, 800

[ S Eakin iz a7 M A W 1 &

Dt
= 1 2,021, 600

BRI 3 % B R AR — o 2 %

IAERL - BT
= 1 1, 306, 200

B A% o LAY e L TRVAE N 3
= 1 465, 800

BANTA LT Fu—T v Tt W 45
= 1 1, 078, 000

WS OH - JEE ) W 5%
= 1 2, 280, 200

-1- [E 2w HE )



Bt

ARE

ERA | BTN 5 R A, S R E RS E BGE =
H H P - §
IHE - Tfd - FR - 5] L==7va S B BRI, GAEHEIR e
W EER
= 1 593, 000
WAEEERK N 6

= 1 593, 000

I
= 1 591, 500

Iim G - GHEES)
= 1 591, 500
e
= 1 591, 500
EdRSaca W (==

= 1 591, 500

[EREEES
= 1 281, 210

[ERESY S ¢
= 1 281, 210
-2 - [E 2w HE )



AR
X g /\ =
ERA | BTN 5 R A, S R E RS E BGE =
H H E R
IHE - Tfd - FR - 5] Bk L==7va g HAA B BRI, SRR e
T AR B
= 1 124, 210
g (CGREFE - 1EIRm) N 8 &
= 1 124, 210
B SRR
= 157, 000
CRaD® STii=D%~¢ W 9 &
# 157, 000
EEEM (FOMsmkR <)
=V 8,617,510
Z DA EAM
= 4, 489, 097
— A
= 7,053, 393
SERSMA
= 20, 160, 000
— 3 —

S nl i E WS M ESbE VAR 3



BEALN
X g /\ =
ERA | BTN 5 R A, S R E RS E BGE =
H H THE B S %8
IHE - Tfd - FR - 5] Bk L==7va g BAfff B BRI, SRR e
THEFIFE Y45
= 1 2,016, 000
TR
= 1 22,176, 000
— 4 —

Etrmd  PE TR R



N = i Bl 4F A 2024. 03
/j ;'\, Ijﬂ = R i A H 2024. 03
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
3] 1= B S a8 72 KR Tk
DRt
HH SR - B ESLE HAfL ey AT &4A e
5 58 Easklm A i 7= 3 BT IR O Mt w10 2
= 2,021, 600
2,021, 600
= i—: B AR A 2024. 03
Yj_\’ W :R SBENEITIER 2024 03
B = TS AR 1. 000-0000-0000-0000-0000-1-0 0
& 2 5 ARG 3 2 W R SR Y —
JAERE - T
HH L - B 51 BN Yo HAAT e e
B FERGHIZ % 5 W R R S48 Y — VAR - w1 E
= 1, 306, 200
1, 306, 200

S nl i E WS M ESbE VAR 3




N = i Bl 4F A 2024. 03
1 /j 5Q P ‘l :R S5 AR A 2024. 03
H = F s AR R 1. 000-0000-0000-0000-0000-1-0 0
3 5 iRy — V& AN $E
HH LT - B & HAAT B A &FA i
AR — Vi AR R N2 B
= 1 465, 800
465, 800

AN = ﬁ: BT A A 2024. 03
1 /j 5( P ‘l =R A3 T 4E A 2024. 03
H = TS AR 1. 000-0000-0000-0000-0000-1-0 0
2 BALTA LT Fu—T v TRt
HH TR - HiRE %Mt Hfr pie HAG o e
BADLTA T Fa—T v Tt M 13 &
= 1 1, 078, 000
1, 078, 000

S nl i E WS M ESbE VAR 3



i Bl 4F A 2024. 03
A A A 2024. 03
SRR 1. 000-0000-0000-0000-0000-1-0 0

1 ]k W

w
I

5 & WasaS o4 - EE D)
HH ZFR - HikS ESLE HAfL R AT Kol e
PR N AR KRR (2 B3~ 2 I St SRt i w 14 =
= 1 601, 100
Vel | Bk s M 15 &
= 1 601, 100
U W 16 &
= 1 253, 300
PERRNKES A DT A U atE ) 17 5
= 1 467, 000
PER) O S FEFROILF T NT 2B (AT g 18 &
= 1 357, 700
2, 280, 200

-3- S nl i E WS M ESbE VAR 3



N = i Bl 4F A 2024. 03
1 /j 5Q Ijﬂ :R BEEAES | 2024.03
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
WA EERK
SR - B ESLE HAfL ey AT &4A e
S EER w 19 &
=, 1 593, 000
593, 000
= i—: B AR A 2024. 03
1 Yj 5( W =R SBEEMER 202403
H = TS AR 1. 000-0000-0000-0000-0000-1-0 0
et
TR - HiRE %Mt BT Yo HAAT e e
fred Moo20 B
= 1 591, 500
591, 500

S nl i E WS M ESbE VAR 3



N = i Bl 4F A 2024. 03
/f'R: Ijﬂ = R A A A 2024. 03
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
8 = g (FaEE - E1HE
THH SR - B ESLE HAfL ey AT x| e
[EEEINLEE
= 8, 336, 300
g (REFE - mihE
B AE X0. 0149
= 124, 210
124, 210
= B AR A 2024. 03
Yk |j<] = = SR | 202409
H = TS AR 1. 000-0000-0000-0000-0000-1-0 0
9 = TR R
HH L - B 51 BN # HAAT &HA e
[EREINE
= 8, 336, 300
?E?EEST‘%&{’EEJZE %@ﬂﬁ@%&“%%a?’%
5. 1XEAE (FH) 0. 38
= 157,000| (FFHAREID #7C)
157, 000

S nl i E WS M ESbE VAR 3



